Applications of Simultaneous Equations. KS4 Higher.

Calculators may be used.

NOTE: ALL DIAGRAMS ARE NOT DRAWN TO SCALE.

1. The lengths of the rectangle below are all in centimetres.
(a) Work out the value of x and the value of y.
(b) Hence, workout the area and perimeter of the rectangle.

2x+y+8

4x -y

2. The lengths of the equilateral triangle below are given in centimetres.
(a) Work out the value of x and the value of y.
(b) Hence, workout the perimeter of the equilateral triangle.

(c) Hence, workout the area of the equilateral triangle, giving your answer
correct to 3sf.
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Simultaneous equations, one linear and one quadratic.

3. The lengths of the rectangle below are all in centimetres.
Work out the value of x and y.

25 — y?

xZ

4. The lengths of the rectangle below are all in centimetres.
Work out the value of x and y, giving your answer correct to 1dp.

36 — y?

5. Prove algebraically that the straight line
y = 5 does not intersect the circle x? + y? = 16.

6. Work out the coordinates of the points of intersection of the circle
x% + y% = 34 and the straight line y = 2x + 1. p

=
D
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Answers/Solutions (Solutions not unique).
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I hope you find this useful. If you find any errors, please let me know. Thank you.
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